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O~ VH$ AmnH$mo `h àíZ-nwpñVH$m ImobZo H$mo Z H$hm Om` V~ VH$ Z Imobo§ &

àíZ nwpñVH$m
{df` H$moS>	 :	 44

{df`	 :	 amOZr{VemñÌ

AZwH«$_m§H$ (A§H$mo§ _|) : 

AZwH«$_m§H$ (eãXm| _|) : ____________________________________________________

Aä`Wr© Ho$ hñVmja

     
H$j {ZarjH$ Ho$ hñVmja

g_` : 2 KÊQ>o	 nyUmªH$ : 200

narjm{W©`m| Ho$ {bE {ZX}e
	 1.	 Bg àíZ-nwpñVH$m _| Xmo ^mJ h¡§ & {OgHo$ àW_ ^mJ _| gm_mÝ` kmZ go gå~pÝYV Hw$b 30 àíZ h¢ & 
	 2.	 Bg àíZ-nwpñVH$m Ho$ {ÛVr` ^mJ _| d¡H$pënH$ {df` go gå~pÝYV Hw$b 70 àíZ h¢ &
	 3.	 Bg àíZ-nwpñVH$m _| 100 àíZm§e (àíZ) {XE JE h¢ & àË òH$ àíZm§e {hÝXr Am¡a A§J«oOr XmoZm| _| N>nm h¡ & àË òH$ àíZm§e Ho$ {bE Mma {dH$ën 

{XE JE h¢ & BZ_| go EH$ {dH$ën H$mo MwZ b|, {Ogo Amn CÎma nÌH$ na A§{H$V H$aZm MmhVo h¢ & `{X AmnH$mo Eogm bJo§ {H$ EH$ go A{YH$ 
{dH$ën ghr h¡§, Vmo Cg {dH$ën H$mo A§{H$V H$a| Omo AmnH$mo gdm}Îm_ bJo§ & àË òH$ àíZm§e Ho$ {bE Ho$db EH$ hr {dH$ën MwZZm h¡ &

	 4.	 narjm àmaå^ hmoZo Ho$ VwaÝV ~mX, Amn Bg àíZ-nw{ñVH$m H$s Om±M Adí` H$a b| {H$ Bg_| H$moB© {~Zm N>nm, H$Q>m `m Ny>Q>m hþAm n¥ï> AWdm àíZm§e 
Am{X Z hmo &

	 5.	 Aä`Wu H$j {ZarjH$ Ûmam {ZX}e XoZo Ho$ CnamÝV hr àíZ-nwpñVH$m H$s grb Imob| &
	 6.	 Aä`Wu CÎma nÌH$ (Amo. E_. Ama. erQ>) na CÎma XoZo go nhbo àíZ-nwpñVH$m Ed§ CÎma nÌH$ Ho$ g^r AZwXoem| H$mo gmdYmZrnyd©H$ n‹T> b| &
	 7.	 CÎma nÌH$ (Amo. E_. Ama. erQ>) na Aä`Wu AnZm AZwH«$_m§H$, {df`, àíZ-nÌ H$m ghr H$moS>, CÎm[aV àíZm| H$s g§»`m VWm AZwÎm[aV 

àíZm| H$s g§»`m ñdÀN>Vmnyd©H$ {bI| AÝ`Wm CÎma nÌH$ H$m _yë`m§H$Z Zht {H$`m Om`oJm Am¡a gånyU© {Oå_oXmar ñd`§ Aä`Wu H$s hmoJr & 
	 8.	 Aä`Wu ghr CÎma {Z{X©îQ> H$aVo hþE CZ_| go Ho$db EH$ Jmobo AWdm ~~b H$mo CÎma nÌH$ na H$mboo ~m°b ßdmB§Q> noZ go nyam Jham H$a X| & 

EH$ go A{YH$ CÎma XoZo H$s Xem _| CÎma H$mo JbV _mZm Om`oJm Ed§ Cgo Om±Mm Zht Om`oJm &
	 9.	 CÎma nÌH$ (Amo. E_. Ama. erQ>) _| EH$ ~ma Jmobm ^ao OmZo Ho$ ~mX Cg_| {H$gr ^r àH$ma H$m n[adV©Z Zht {H$`m Om`oJm &
	 10.	 Aä`Wu CÎma nÌH$ (Amo. E_. Ama. erQ>) H$mo {H$gr àH$ma Z _mo‹S>| &
	 11.	 AmnH$mo AnZo g^r CÎma Ho$db CÎma nÌH$ (Amo. E_. Ama. erQ>) na hr XoZo h¢ & narjm Ho$ Cnam§V CÎma nÌH$ (Amo. E_. Ama. erQ>) H$j 

{ZarjH$ H$mo bm¡Q>m X| &
	 12.	 `{X {hÝXr `m A§J«oOr {ddaU _| H$moB© {dg§J{V hmo, Vmo A§J«oOr {ddaU ApÝV_ _mZm OmEJm &
	 13.	 `{X H$moB© Aä`Wu AZw{MV gmYZ H$m à`moJ H$aVm h¡ `m CgH$m à`mg H$aVm h¡ AWdm narjm H$j _| {H$gr àH$ma H$m ì`dYmZ H$aVm h¡, 

Vmo dh narjm Ho$ {bE A`mo½` Kmo{fV H$a {X`m Om`oJm &
	 14.	 H$moB© ^r Aä`Wu narjm H$j go ~mha Zht Om`oJm O~ VH$ 120 {_ZQ> (Xmo KÊQ>o) nyao Z hmo J`o hmo &
	 15.	 H$moB© ^r a\$ H$m`©, `{X H$moB© hmo, Bg H$m`© hoVw {ZYm©[aV Imbr nÝZm| na hr {H$`m OmZm Mm{h`o & A{V[aŠV nÝZo Zht {X`o Om`o§Jo &
	 16.	 AnZm AZwH«$_m§H$ Am{X {bIZo Ho$ {bE VWm CÎma nÌH$ (Amo. E_. Ama. erQ>) na CÎmam| H$mo ^aZo Ho$ {bE Ho$db H$mbo ~m°b ßdmB§Q> noZ H$m à`moJ 

H$a| &

O~ VH$ AmnH$mo `h àíZ-nwpñVH$m ImobZo H$mo Z H$hm Om` V~ VH$ Z Imob| &
Note : The English version of the instructions is printed on the last page of this Question Booklet.
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àíZ-nw{ñVH$m ~ma H$moS> H«$_ g§»`m
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gm_mÝ` kmZ 
General Knowledge

	 1.	 ^wdZoída VWm nwar Ho$ _§{Xa {H$g e¡br _| {Z{_©V h¢ ?
	 (A)	 ZmJa	 (B)	 Ð{d‹S>	 (C)	 doga	 (D)	 CnamoŠV _| go H$moB© Zht
		  In which style are the temples of Bhubaneshwar and Puri built ?
	 (A)	 Nagara	 (B)	 Dravidian	 (C)	 Vesara	 (D)	 None of the above

	 2.	 ZrMo Xmo H$WZ {XE JE h¢, {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ &
		  A{^H$WZ (A) : ½bmo~b B§{S>̀ m E.AmB©. {eIa gå_obZ H$m Am`moOZ hmb hr _| ZB© {Xëbr Ho$ ^maV _§S>n_ _| hþAm &
		  H$maU (R) : {g§Jmnwa, S>oÝ_mH©$ Am¡a g§`wŠV amÁ` A_o[aH$m CÀMV_ ao{Q>§J dmbo E.AmB©. _| go h¡ VWm ^maV H$m àXe©Z 

AnojmH¥$V _O~yV h¡ &
		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
		  Hy$Q> :
	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R), (A)  H$s ghr ì`m»`m H$aVm h¡ 
	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢, naÝVw (R), (A)  H$s ghr ì`m»`m Zht H$aVm h¡ 
	 (C)	 (A) gË` h¡, naÝVw (R) AgË` h¡ 
	 (D)	 (A) AgË` h¡, naÝVw (R) gË` h¡ 
		  Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
		  Assertion (A) : Global India AI summit was recently held at Bharat Mandapam in New Delhi.
		  Reason (R) : Singapore, Denmark and United States of America are among the highest rated AI and 

India’s performance is relatively strong.
		S  elect the correct answer from the code given below :
		  Code :
	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A)
	 (B)	 Both (A) and (R) are true, but (R) is not the correct explanation of (A)
	 (C)	 (A) is true, but (R) is false
	 (D)	 (A) is false, but (R) is true

	 3.	 2024 _| E\$.S>r.E. Ûmam AZw_mo{XV H$m¡Z-gr ZB© Xdm, AëµOmB_a amoJ H$s àJ{V H$mo Yr_m H$aZo Ho$ {bE _pñVîH$ _| 
E{_bm°`S> ßb¡H$ H$mo b{jV H$aVr h¡ ?

	 (A)	 ESw>H$mZw_m~	 (B)	 {H$gwZbm	 (C)	 boZmH$mnm{da	 (D)	 boH$å~r
		  Which new drug, approved by the FDA in 2024, targets amyloid plaque in the brain to slow the progression 

of Alzheimer’s disease ?
	 (A)	 Aducanumab	 (B)	 Kisunla	 (C)	 Lenacapavir	 (D)	 Leqambi
	 4.	 {H$g amÁ` gaH$ma Zo Xoer Jm` H$mo "amÁ` _mVm-Jmo_mVm' H$m XOm© {X`m ?
	 (A)	 CÎma àXoe	 (B)	 N>ÎmrgJ‹T>	 (C)	 _hmamîQ´>	 (D)	 _Ü` àXoe
		  Which state government gave status of ‘Rajya Mata – Gomata’ to indigenous cow ?
	 (A)	 Uttar Pradesh	 (B)	 Chhattisgarh	 (C)	 Maharashtra	 (D)	 Madhya Pradesh

	 5.	 E{e`Z {~{b`S>©²g M¢{n`Z{en 2024 Am`mo{OV H$s JB©
	 (A)	 [a`mX _|	 (B)	 VohamZ _|	 (C)	 _wå~B© _|	 (D)	 T>mH$m _|
		  Asian Billiards championship 2024 was organised in
	 (A)	 Riyadh	 (B)	 Tehran	 (C)	 Mumbai	 (D)	 Dhaka

	 6.	 {ZåZ{b{IV _| go H$m¡Z g~go `wdm {díd eVa§O H$m {dOoVm h¡ ?
	 (A)	 Z¡Ýgr Ë`mJr	 (B)	 _Zw ^mH$a	 (C)	 g§O` _ëhmoÌm	 (D)	 JwHo$e S>moå_mamOy
		  Who among the following is Youngest World Chess Champion ?
	 (A)	 Nancy Tyagi	 (B)	 Manu Bhaker	 (C)	S anjay Malhotra	 (D)	 Gukesh Dommaraju



	 -3-	 44

	 7.	 {ZåZ{b{IV _| go H$m¡Z-gm emoY _| àmW{_H$ S>oQ>m g§J«h H$s {d{Y Zht h¡ ?
	 (A)	 gmjmËH$ma	 (B)	 gd}jU	 (C)	 gm{hË` g_rjm	 (D)	AdbmoH$Z
		  Which of the following is not a method of primary data collection in research ?
	 (A)	 Interviews	 (B)	S urveys	 (C)	 Literature review	 (D)	 Observations

	 8.	 {ejU _| àm`moOZm {d{Y H$m OÝ_XmVm {H$go _mZm OmVm h¡ ?
	 (A)	 Om°Z S>rdr			   (B)	 {d{b`_ hS>© {H$bn¡{Q´>H$
	 (C)	 àmo. Am_©ñQ´>m±J			   (D)	 gwH$amV
		  Who is considered to be the originator of the project method in teaching ?
	 (A)	 John Dewey			   (B)	 William Heard Kilpatrick
	 (C)	 Prof. Armstrong			   (D)	S ocrates

	 9.	 àmW{_H$ Am±H$‹S>m| Ho$ EH$ÌrH$aU H$s {d{Y`m± h¢
	 a.	 Ho$g AÜ``Z {d{Y
	 b.	 S>mH$ àíZmdbr {d{Y
	 c.	Am°ZbmBZ òmoV
	 d.	AZwgyMr

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{ZE :
	 (A)	 Ho$db b, c, d	 (B)	 Ho$db a, b, d	 (C)	 Ho$db a, c, d	 (D)	 Ho$db a, b, c
		  Methods of collection of primary data are 
	 a.	 Case study method
	 b.	 Mail questionnaire method
	 c.	 Online resources
	 d.	S chedule
		  Choose the correct answer from the options given below :
	 (A)	 only b, c, d	 (B)	 only a, b, d	 (C)	 only a, c, d	 (D)	 only a, b, c

	 10.	 {ZåZ{b{IV _| go H$m¡Z-gm {ejU _| àmê$nmË_H$ _yë`m§H$Z H$s {deofVm Zht h¡ ?
	 (A)	 grIZo _| gwYma Ho$ {bE gVV à{V{H«$`m àXmZ H$aZm
	 (B)	 nmR>çH«$_ Ho$ A§V _| Jo«S> àXmZ H$aZo Ho$ {b`o Am`mo{OV {H$`m OmVm h¡ 
	 (C)	 N>mÌm| H$mo CZH$s VmH$V Am¡a H$_Omo[a`m| H$s nhMmZ _| _XX H$aVm h¡
	 (D)	 à{ejH$m| H$mo gwYma H$s Amdí`H$Vm dmbo joÌm| Ho$ ~mao _| gy{MV H$aVm h¡
		  Which of the following is not a characteristic of formative assessment in teaching ?
	 (A)	 Provides ongoing feedback to improve learning
	 (B)	 Conducted at the end of a course to assign grades
	 (C)	 Helps students to identify their strengths and weakness
	 (D)	 Informs instructors about areas needing improvements

	 11.	 {ZåZ{b{IV _| go H$m¡Z-gr emoY H$s {d{Y Zht h¡ ?
	 (A)	 Xme©{ZH$	 (B)	 Eo{Vhm{gH$	 (C)	 gd}jU	 (D)	AdbmoH$Z
		  Which of the following is not a method of research ?
	 (A)	 Philosophical	 (B)	 Historical	 (C)	S urvey	 (D)	 Observation

	 12.	 {ZåZ{b{IV _| go H$m¡Z-gm AempãXH$ gåàofU H$m àH$ma Zht h¢ ?
	 (A)	 dmUr g§Ho$V			   (B)	 {b{IV gåàofU	
	 (C)	 Mjw gånH©$			   (D)	 ñne©Zr` gånH©$
		  Which of the following is not a type of non-verbal communication ?
	 (A)	 Voice signal			   (B)	 Written communication
	 (C)	 Eye contact			   (D)	 Tactile contact
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	 13.	 {ZåZ{b{IV _| go {H$g g§ñWm Zo df© 2005 _| B©-kmZH$moe H$s ewédmV H$s ?
	 (A)	AmB©.AmB©.Q>r. H$mZnwa			   (B)	 B§{Xam Jm±Yr amîQ´>r` _wŠV {díd{dÚmb`
	 (C)	 Bbmhm~mX {díd{dÚmb`			   (D)	 {Xëbr {díd{dÚmb`
		  Which of the following institutions launched e-Gyankosh in the year 2005 ?
	 (A)	 IIT Kanpur			   (B)	 Indira Gandhi national Open University
	 (C)	 Allahabad University			   (D)	 Delhi University

	 14.	 gmd©O{ZH$ dmB©-\$mB© H$m Cn`moJ H$aVo g_`, gwajm ~‹T>mZo Ho$ {bE AZwe§{gV Aä`mg Š`m h¡ ?
	 (A)	 {~Zm {H$gr à{V~§Y Ho$ g§doXZerb ImVm| VH$ nhþM|
	 (B)	AnZo H$ZoŠeZ H$mo EpÝH«$ßQ> H$aZo Ho$ {bE dr.nr.EZ. H$m Cn`moJ H$a|
	 (C)	 g^r gwajm g_m`moOZ Aj_ H$a|
	 (D)	 Xÿgam| Ho$ gmW AnZm H$ZoŠeZ gmPm H$a|
		  When using public Wi-Fi, what is a recommended practice to enhance security ?
	 (A)	 Access sensitive account without any restriction
	 (B)	 Use a VPN to encrypt your connection
	 (C)	 Disable all security settings
	 (D)	S hare your connection with others

	 15.	 ZoQ>d{Hª$J _| "dr.nr.EZ.' H$m Š`m AW© h¡ ?
	 (A)	 dMw©Ab àmBdoQ> ZoQ>dH©$			   (B)	 dMw©Ab npãbH$ ZoQ>dH©$
	 (C)	 do[aE~b àmBdoQ> ZoQ>dH©$			   (D)	 do[a\$mBS> àmBdoQ> ZoQ>dH©$
		  What does ‘VPN’ stand for in networking ?
	 (A)	 Virtual Private Network			   (B)	 Virtual Public Network
	 (C)	 Variable Private Network	 	 	 (D)	 Verified Private Network

	 16.	 ^maV _| dÝ`Ord g§ajU A{Y{Z`_ H$~ nm[aV hþAm ?
	 (A)	 1972 _| 	 (B)	 1968 _| 	 (C)	 1980 _| 	 (D)	 1986 _| 
		  When was the wildlife protection Act passed in India ?
	 (A)	 1972	 (B)	 1968	 (C)	 1980	 (D)	 1986

	 17.	 {ZåZ{b{IV _| go H$m¡Z-gr J¡g J«rZhmD$g à^md Zht S>mbVr h¡ ?
	 (A)	 H$m~©Z S>mB©Am°ŠgmBS>	 (B)	 H$m~©Z _moZmoAm°ŠgmBS>	 (C)	 _rWoZ	 (D)	 ZmBQ´>g Am°ŠgmBS>
		  Which of the following gases does not cause greenhouse effect ?
	 (A)	 Carbon dioxide	 (B)	 Carbon monoxide	 (C)	 Methane	 (D)	 Nitrous oxide

	 18.	 dm`w_§S>b _| J«rZhmD$g J¡gm| H$s ~‹T>Vr àMwaVm Ho$ {ZåZ{b{IV g§^m{dV à^md h¢, Ho$ A{V[aŠV
	 (A)	 CO2 \${Q>©bmBµOoeZ	 (B)	 ½bmo~b dm{_ªJ	 (C)	AmoµOmoZ jaU	 (D)	 O¡d{d{dYVm _| d¥{Õ
		  The increasing abundance of greenhouse gases in the atmosphere has the following possible affects, except
	 (A)	 CO2 fertilization	 (B)	 Global warming	 (C)	 Ozone depletion	 (D)	 Increase in biodiversity

	 19.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ ^maV H$m H¥${Ì_ ~ÝXaJmh h¡ ?
	 (A)	 H$moMrZ	 (B)	 MoÝZB©	 (C)	 _wå~B©	 (D)	 H$mÊS>bm

		  Which one of the following is an artificial port of India ?
	 (A)	 Cochin	 (B)	 Chennai	 (C)	 Mumbai	 (D)	 Kandla

	 20.	 ^maV Ho$ {H$g amÁ` _| g~go A{YH$ ~m°ŠgmBQ> H$m CËnmXZ hmoVm h¡ ?
	 (A)	 PmaI§S>	 (B)	 H$Zm©Q>H$	 (C)	Amo{‹S>gm	 (D)	 N>ÎmrgJ‹T>
		  Which state of India is the largest producer of Bauxite ?
	 (A)	 Jharkhand	 (B)	 Karnataka	 (C)	 Odisha	 (D)	 Chhattisgarh
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	 21.	 erV F$Vw _| V{_bZmSw> _| hmoZo dmbr dfm© H$m àH$ma Š`m h¡ ?
	 (A)	 nd©Vr`	 (B)	 à{V MH«$dmVr`	 (C)	 g§dhZr`	 (D)	 MH«$dmVr`
		  What is the type of rainfall that occurs in Tamil Nadu during winter season ?
	 (A)	 Mountainous	 (B)	 Anti cyclonic	 (C)	 Convectional	 (D)	 Cyclonic

	 22.	 "AmË_r` g^m' H$s ñWmnZm {H$gZo H$s ?
	 (A)	 ñdm_r {ddoH$mZÝX			   (B)	 amOm am_ _mohZ am`
	 (C)	 ñdm_r X`mZÝX gañdVr			   (D)	 amYm H$mÝV Xod
		  Who founded the  ‘Atmiya Sabha’ ?
	 (A)	S wami Vivekananda			   (B)	 Raja Ram Mohan Roy
	 (C)	S wami Dayananda Saraswati	 (D)	 Radha Kant Dev

	 23.	 {ZåZ{b{IV _| go {H$go 1938 _| gw^mf MÝÐ ~mog Ho$ Ë`mJnÌ XoZo Ho$ níMmV ^maVr` amîQ´>r` H$m±J«og H$m AÜ`j MwZm 
J`m ?

	 (A)	 dëb^^mB© nQ>ob	 (B)	 Odmhabmb Zohê$	 (C)	 EZr ~og|Q>	 (D)	 S>m°. amOoÝÐ àgmX

		  Who among the following was elected as President of the Indian National Congress after Subhash Chandra 
Bose resigned in 1938 ?

	 (A)	 Vallabhbhai Patel	 (B)	 Jawaharlal Nehru	 (C)	 Annie Besant	 (D)	 Dr. Rajendra Prasad

	 24.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
	 	 gyMr – I	 	 gyMr – II
	 	 (àdV©H$)		  (Am§XmobZ)
	 a.	 ~mb J§JmYa {VbH$	 I.	 {Ibm\$V Am§XmobZ
	 b.	 em¡H$V Abr	 II.	 1857 {dÐmoh
	 c.	 _hmË_m Jm±Yr	 III.	 ñdXoer Am§XmobZ (1905 go 1907)
	 d.	 ~hmXþa emh	 IV.	 Agh`moJ Am§XmobZ

		  Hy$Q> :
	 	 a	 b	 c	 d
	 (A)	 III	 IV	  II	  I
	 (B)	 II	 I	  III	  IV
	 (C)	 III	 I	 IV	  II
	 (D)	 II	 IV	 III	  I
		  Match List – I with List – II and select the correct answer from the code given below the lists :
	 	L ist – I		L  ist – II
		  (Originator)		  (Movement)
	 a.	 Bal Gangadhar Tilak	 I.	 Khilafat Movement
	 b.	S haukat Ali	 II.	 1857 Revolt
	 c.	 Mahatma Gandhi	 III.	S wadeshi Movement (1905 to 1907)
	 d.	 Bahadur Shah	 IV.	 Non-Cooperation Movement
		  Code :
	 	 a	 b	 c	 d
	 (A)	 III	 IV	  II	  I
	 (B)	 II	 I	  III	  IV
	 (C)	 III	 I	 IV	  II
	 (D)	 II	 IV	 III	  I
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	 25.	 MwZmd Am`moJ Ho$ ~mao _| {ZåZ{b{IV _| go H$m¡Z-gm H$WZ gË` h¡ ?

	 (A)	 `h EH$ ñWm`r {ZH$m` h¡ {Ogo {dK{Q>V Zht {H$`m Om gH$Vm &

	 (B)	 BgH$s {Z`wpŠV àYmZ_§Ìr Ûmam H$s OmVr h¡ &

	 (C)	 BgHo$ nmg Cå_rXdmam| H$mo A`mo½` Kmo{fV H$aZo H$m A{YH$ma h¡ &

	 (D)	 `h Ho$db MwZmd Ad{Y Ho$ Xm¡amZ g§Mm{bV hmoVm h¡ &

		  Which of the following statements about the Election Commission is true ?
	 (A)	 It is a permanent body that can not be dissolved.
	 (B)	 It is appointed by the Prime Minister.
	 (C)	 It has the authority to disqualify the candidates.
	 (D)	 It only operates during election period.

	 26.	 g§gXr` emgZ ì`dñWm _|

	 (A)	 H$m`©nm{bH$m, {dYm{`H$m Ho$ à{V CÎmaXm`r h¡	

	 (B)	 {dYm{`H$m, H$m`©nm{bH$m Ho$ à{V CÎmaXm`r h¡

	 (C)	 Ý`m`nm{bH$m, {dYm{`H$m Ho$ à{V CÎmaXm`r h¡	

	 (D)	 H$m ©̀nm{bH$m, Ý`m`nm{bH$m Ho$ à{V CÎmaXm`r h¡

		  In parliamentary form of government
	 (A)	 Executive is responsible to legislature	
	 (B)	 Legislature is responsible to executive
	 (C)	 Judiciary is responsible to legislature	
	 (D)	 Executive is responsible to judiciary

	 27.	 g§gX Ho$ {H$g gXZ Ho$ gXñ`m| go àmŠH$bZ g{_{V J{R>V H$s OmVr h¡ ?
	 a.	 bmoH$ g^m
	 b.	 amÁ` g^m
	 c.	 XmoZm| gXZm| Ho$ gXñ`m| go
	 d.	 amîQ´>n{V Ûmam _ZmoZrV gXñ`m| go

	 	 ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{ZE :
	 (A)	 Ho$db a			   (B)	 Ho$db a Am¡a b	
	 (C)	 Ho$db d			   (D)	 Ho$db a, b Am¡a d
		  The Estimates committee is constituted from the members of which House of parliament ?
	 a.	 Lok Sabha
	 b.	 Rajya Sabha
	 c.	 From members of both Houses
	 d.	 From members nominated by the President
		  Choose the correct answer from the options given below :
	 (A)	 only a			   (B)	 only a and b	
	 (C)	 only d			   (D)	 only a, b and d 
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	 28.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
	 	 gyMr – I		  gyMr – II

	 a.	 ES>_ pñ_W	 I.	 X doëW Am°\$ ZoeÝg

	 b.	 Wm°_g _mëWg	 II.	 X {W`moar Am°\$ BH$moZm{_H$ J«moW

	 c.	 S>ãë`y.E. bo{dg	 III.	 Bånr[a`{bÁ_ EÊS> AZBŠdb S>odbn_|Q>
	 d.	 g_ra A_rZ	 IV.	 Eñgo Am°Z X qà{gnëg Am°\$ nm°ß`wboeZ
	 	 Hy$Q> :
		  a	 b	 c	 d
	 (A)	 II	  III	  IV	  I
	 (B)	 I	  IV	  II	  III
	 (C)	 I	  III	  II	  IV
	 (D)	 I	  IV	 III	  II

		  Match List – I with List – II and select the correct answer from the code given below the lists :
	 	L ist – I		L  ist – II
	 a.	 Adam Smith	 I.	 The Wealth of Nations

	 b.	 Thomas Malthus	 II.	 The theory of Economic Growth

	 c.	 W.A. Lewis	 III.	 Imperialism and unequal development

	 d.	S amir Amin	 IV.	 Essay on the principles of population

		  Code :
		  a	 b	 c	 d
	 (A)	 II	  III	  IV	  I

	 (B)	 I	  IV	  II	  III

	 (C)	 I	  III	  II	  IV

	 (D)	 I	  IV	 III	  II

	 29.	 Ho$ÝÐr` ~OQ> 2025 – 26 _| {H$g amÁ` _| "_ImZm ~moS>©' H$mo J{R>V H$aZo H$m àñVmd {X`m J`m h¡ ?
	 (A)	 Oå_y Am¡a H$í_ra			   (B)	 {~hma	
	 (C)	 CÎma àXoe			   (D)	AmÝY« àXoe
		  In Union Budget 2025 – 26, ‘Makhana Board’ is proposed to be set up in the state of

	 (A)	 Jammu and Kashmir			   (B)	 Bihar	

	 (C)	 Uttar Pradesh			   (D)	 Andhra Pradesh

	 30.	 Ho$ÝÐr` ~OQ> 2025 – 26 _| H$_mB© H$m g~go ~‹S>m òmoV H$hm± go AmZo H$m AZw_mZ h¡ ?
	 (A)	Am~H$mar H$a			   (B)	 dñVw Ed§ godm H$a
	 (C)	Am` H$a			   (D)	 H$ñQ>åg S>çyQ>r
		  In Union Budget 2025 – 26, the largest source of earning is estimated to come from

	 (A)	 Excise duty			   (B)	 Goods and Services Tax

	 (C)	 Income Tax			   (D)	 Customs duty
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amOZr{VemñÌ 
political scienceet I)

	 31.	 {ZåZ{b{IV _| go H$m¡Z-gr CXma bmoH$V§Ì H$s {deofVm Zht h¡ ?
	 (A)	 ^mfU Am¡a A{^ì`pŠV H$s ñdV§ÌVm
	 (B)	 amOZr{VH$ Xbm| H$mo g§J{R>V H$aZo H$m A{YH$ma
	 (C)	 Ho$ÝÐrH¥$V {Z`moOZ
	 (D)	 VQ>ñW g§ñWm Ho$ VËdmdYmZ _| MwZmd

		  Which one of the following is not a feature of liberal democracy ?

	 (A)	 Freedom of speech and expression

	 (B)	 Right to organise political parties

	 (C)	 Centralised planning

	 (D)	 Elections under neutral agency

	 32.	 {ZåZ{b{IV _| go H$m¡Z-gr EH$ {dMmaYmam H$m VH©$ h¡ {H$ à^wgÎmm H$s AdYmaUm H$mo amOZr{VH$ {gÕm§V go hQ>m XoZm 
Mm{hE ?

	 (A)	 ~hþbdmX	 (B)	AmXe©dmX	 (C)	 \$mgrdmX	 (D)	 _mŠg©dmX

		  Which one of the following schools argue that the concept of sovereignty be removed from political theory ?

	 (A)	 Pluralism	 (B)	 Idealism	 (C)	 Fascism	 (D)	 Marxism

	 33.	 {ZåZ{b{IV _| go H$m¡Z-gm amï´>n{V$ emgZ ì`dñWm H$s {deofVm Zht h¡ ?

	 (A)	 amÁ` Am¡a gaH$ma Ho$ àYmZ Ho$ _Ü` H$moB© ^oX Zht

	 (B)	 {ZpíMV H$m`©H$mb

	 (C)	 {dYmZ_§S>b H$s gr{_V epŠV`m± 

	 (D)	 epŠV H$m n¥WŠH$aU

		  Which one of the following is not a feature of Presidential form of government ?

	 (A)	 No difference between head of state and head of government

	 (B)	 Fixed tenure

	 (C)	 Limited powers of legislature

	 (D)	S eparation of power

	 34.	 bmoH$V§Ì H$m H$m¡Z-gm {gÕm§V ZmJ[aH$m| Ho$ amOZr{VH$ A{YH$ma H$mo CÀM àmW{_H$Vm XoVm h¡ ?
	 (A)	 CXmadmXr {gÕm§V			   (B)	A{^OZ {gÕm§V
	 (C)	 ~hþbdmXr {gÕm§V			   (D)	 _mŠg©dmXr {gÕm§V

		  Which theory of democracy accords high priority to political rights of citizens ?

	 (A)	 Liberal theory			   (B)	 Elitist theory

	 (C)	 Pluralist theory			   (D)	 Marxist theory
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	 35.	 gyMr – I Am¡a gyMr – II H$mo gw_o{bV H$s{OE Am¡a ZrMo {XE JE Hy$Q>m| go ghr CÎma H$m M`Z H$s{OE &
	 	 gyMr – I ({gÕm§V)				    gyMr – II (àUoVm)
	 a.	 `WmW©dmX			   i.	 \$arX OH$m[a`m
	 b.	 Zd-`WmW©dmX			   ii.	 aoÝhmoëS> Zo~wa
	 c.	 CXmadmX			   iii.	 Eg. S>r. H«$mgZa
	 d.	 Zd-CXmadmX			   iv.	 Ow.Omogo\$ Eg. ZmB©
	         Hy$Q> : 
		  a	 b	 c	 d
	 (A)	 ii	 i	 iv	 iii
	 (B)	 i	 ii	 iii	 iv
	 (C)	 iv	 iii	 ii	 i
	 (D)	 iii	 i	 iv	 ii

		  Match List – I with List – II and select the correct answer from the codes given below.

		  List – I (Theory)				L    ist – II (Proponent)
	 a.	 Realism			   i.	 Fareed Zakaria

	 b.	 Neo-realism			   ii.	 Reinhold Niebuhr

	 c.	 Liberalism			   iii.	S . D. Krasner

	 d.	 Neo-liberalism			   iv.	 Joseph S. Nye Jr.

	             Codes :
		  a	 b	 c	 d
	 (A)	 ii	 i	 iv	 iii
	 (B)	 i	 ii	 iii	 iv
	 (C)	 iv	 iii	 ii	 i
	 (D)	 iii	 i	 iv	 ii

	 36.	 “amîQ´>dmX gm_y{hH$ {dMma, gm_y{hH$ ^mdZm VWm gm_y{hH$ OrdZ `mnZ H$s àUmbr h¡ &” `h n[a^mfm {H$gZo Xr h¡ ?
	 (A)	 bmS>© EoŠQ>Z Zo			   (B)	 {O_Z© Zo
	 (C)	 Oo. Eg. {_b Zo			   (D)	 a~rÝÐZmW Q>¡Jmoa Zo

		  “Nationalism is a way of corporate thinking, corporate feeling and corporate living.” Who has given this 
definition ?

	 (A)	 Lord Acton			   (B)	 Zimmern

	 (C)	 J. S. Mill			   (D)	 Rabindranath Tagore

	 37.	 {H$gZo amîQ´> H$mo ‘ñd`§ H$mo {ZO Ho$ amÁ` Ho$ ê$n _| ̀ WoVa`Vm àH$Q> H$aZo dmbr ̂ mdZm Ho$ EH$ g_wXm`’ Ho$ ê$n _| n[a^m{fV 
{H$`m h¡ ?

	 (A)	 XrZX`mb CnmÜ`m`			   (B)	 E§WZr {JS>|g
	 (C)	 ~mb J§JmYa {VbH$			   (D)	 _¡Šg do~a

	 	 Who defined nation as ‘a community of sentiment which would adequately manifest itself in a state of its 
own ?’

 	 (A)	 Deendayal Upadhyay			   (B)	 Anthony Giddens

	 (C)	 Bal Gangadhar Tilak			   (D)	 Max Weber



	 -10-	 44

	 38.	 gyMr – I H$mo gyMr – II go gw_o{bV H$s{OE Am¡a ZrMo {XE JE Hy$Q>m| go ghr CÎma H$m M`Z H$s{OE &
	 	       gyMr – I 				    gyMr – II 
		  (nwñVH$m| Ho$ Zm_)				    (g§~§{YV {dMmaH$)
	 a.	 X {S>ñH$mog}g			   i.	 Oo. Oo. ê$gmo
	 b.	 X H$monm} ao nm°{b{Q>H$mo			   ii.	 _¡Š`mdobr
	 c.	 boQ>a H§$g{ZªJ Q>m°baoeZ			   iii.	 Q>m°_g hm°ãg
	 d.	 B_mBb			   iv.	 Om°Z bm°H$
		  ZrMo {XE JE Hy$Q>m| _§o go ghr CÎma H$m M`Z H$s{OE :
	       Hy$Q> : 
		  a	 b	 c	 d
	 (A)	 i	 iv	 ii	 iii
	 (B)	 ii	 i	 iii	 iv
	 (C)	 iii	 ii	 iv	 i
	 (D)	 ii	 iii	 iv	 i
		  Match List – I with List – II and select the correct answer from the codes given below.
	   	List – I 				L    ist – II 
	                 (Name of books)			                                  (Related Thinkers)
	 a.	 The discourses			   i.	 J. J. Rousseau
	 b. 	De Corpore politico			   ii. 	Machiavelli
	 c. 	Letter concerning toleration	 iii.	 Thomas Hobbes
	 d. 	Emile			   iv. 	John Locke
	            Choose the correct answer from the codes given below :

             Codes : 	
		  a	 b	 c	 d
	 (A)	 i	 iv	 ii	 iii
	 (B)	 ii	 i	 iii	 iv
	 (C)	 iii	 ii	 iv	 i
	 (D)	 ii	 iii	 iv	 i

	 39.	 ZrMo Xmo H$WZ {XE JE h¢, EH$ H$mo A{^H$WZ (A) Am¡a Xÿgao H$mo VH©$ (R) H$hm J`m h¡ &
		  A{^H$WZ (A) : amîQ´>r` Am§XmobZ Ho$ Xm¡amZ ñdXoer, ~{hîH$ma Am¡a h‹S>Vmb {VbH$ H$s {dMmaYmam Ho$ Ho$ÝÐ _| Wo &
		  VH©$ (R)	        : H$mbm§Va _| BZ {dMmam| H$mo gm_m{OH$ Ý`m` Ho$ AnZo bú` H$mo AJ«gm[aV H$aZo Ho$ {bE Aå~o‹S>H$a Zo 	

	        ^r AnZm`m &
		  Cn`w©ŠV H$WZm| Ho$ AmbmoH$ _§o {ZåZm§{H$V {dH$ënm| _| go gdm©{YH$ Cn`wŠV CÎma MwZo :
	 (A)	 (A) Am¡a (R) XmoZm| ghr h¡ Am¡a (R), (A) H$s ghr ì`m»`m h¡ 
	 (B)	 (A) Am¡a (R) XmoZm| ghr h¡ naÝVw (R), (A) H$s ghr ì`m»`m Zht h¡ 
	 (C)	 (A) ghr h¡ naÝVw (R) JbV h¡ 
	 (D)	 (A)  JbV h¡ naÝVw (R) ghr h¡ 
		  Given below are two statements : One is labelled as Assertion (A) and other is labelled as reason (R).
		  Assertion (A) : Swadeshi, boycott and strike constituted core of Tilak’s ideology during national 	movements. 
		  Reason(R)     : These ideas were later adopted by Ambedkar to pursue his goal of social justice.
		  In the light of the above, choose the correct answer from the options given below :
	 (A)	 Both (A)  and (R) are correct and (R) is the correct explanation of (A)
	 (B)	 Both (A) and (R) are correct but (R) is not the correct explanation of (A)
	 (C)	 (A) is correct but (R) is not correct
	 (D)	 (A) is not correct but (R) is correct
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	 40.	 ZrMo Xmo H$WZ {XE JE h¡ :

		  H$WZ – I : Aå~oS>H$a A{YH$mam| Ho$ àmH¥${VH$ {gÕm§V _| {dídmg H$aVo Wo &

		  H$WZ – II : do A{YH$mam| H$s A{dÀN>oÚVm na ~b XoZm MmhVo Wo &

		  Cn`w©ŠV H$WZm| Ho$ AmbmoH$ _|, {ZåZm§{H$V {dH$ënm| _| go gdm©{YH$ Cn`wŠV CÎma MwZo :
	 (A)	 H$WZ – I Am¡a H$WZ  – II XmoZm| gË` h¢ 
	 (B)	 H$WZ – I Am¡a H$WZ – II XmoZm| JbV h¢ 
	 (C)	 H$WZ – I gË` h¡ {H$ÝVw H$WZ – II JbV h¡ 
	 (D)	 H$WZ – I JbV h¡ {H$ÝVw H$WZ – II gË` h¡ 	

		  Given below are two statements :

		  Statement – I : Ambedkar believed in natural theory of rights.

		  Statement – II : He wanted to emphasise indissolubility of rights.

		  In the light of the above statement, choose the correct answer from the option given below :
	 (A)	 Both statement – I and statement – II are true
	 (B)	 Both statement – I and statement – II are false
	 (C)	S tatement – I is true but statement – II is false
	 (D)	S tatement – I is false but statement – II is true

	 41.	 Om°Z bm°H$ Ho$ amOZr{VH$ Xe©Z _| ghr H«$_ nhMm{ZE &

	 (A)	 àmH¥${VH$ AdñWm, AZw~§Y, ZmJ[aH$ g_mO, Z¡g{J©H$ A{YH$ma

	 (B)	 Z¡g{J©H$ A{YH$ma, àmH¥${VH$ AdñWm, ZmJ[aH$ g_mO, AZw~§Y

	 (C)	AZw~§Y, àmH¥${VH$ AdñWm, ZmJ[aH$ g_mO, Z¡g{J©H$ A{YH$ma

	 (D)	 Z¡g{J©H$ A{YH$ma, àmH¥${VH$ AdñWm, AZw~§Y, ZmJ[aH$ g_mO
		  Identify the correct sequence in the  political philosophy of John Locke.
	 (A)	S tate of nature, contract, civil society, natural rights
	 (B)	n atural rights, state of nature, civil society, contract
	 (C)	 Contract, state of nature, civil society, natural rights
	 (D)	n atural rights, state of nature, contract, civil society

	 42.	 Ag§JV gw_ob H$m M`Z H$s{OE :
	 (A)	 nmda BbrQ>	 –	 gr. amBQ> {_ëg
	 (B)	 Am`aZ bm° Am\$ Am°{bJmH$s©	 –	 am°~Q>© {_eoëg
	 (C)	 Jd{ZªJ EÝS> Zm°Z-Jd{ZªJ BbrQ>	 – 	 dr. naoQ>mo
	 (D)	 H$ëMa BÝS>ñQ´>r	 –	 {JQ>mZmo _moñH$m
		S elect  the incorrect match :
	 (A)	 Power Elite	 –	 C. Wright Mills
	 (B)	 Iron Law of Oligarchy	 –	 Robert Michels
	 (C)	 Governing and Non-governing Elite 	 – 	 V. Pareto
	 (D)	 culture Industry 	 –	 Gaetano Mosca



	 -12-	 44

	 43.	 gyMr – I H$mo gyMr – II go$ gw_o{bV H$s{OE Am¡a ZrMo {XE JE Hy$Q>m| go ghr CÎma H$m M`Z H$s{OE &
	                         gyMr – I	                                                 gyMr – II

	 a.	 gd©hmam H$s VmZmemhr	 I.	 Jm«ågr
	 b.	 H$å`w{ZñQ>> nmQ>u	 II.	 H$mb© _mŠg©
	 c.	 dM©ñd	 III.	 bo{ZZ
	 d.	 Zd gd©hmam dJ©	 IV.	 Q>m°_ ~moQ>m_moa
	             Hy$Q> :
		  a 	 b 	 c 	 d 
	 (A)	 II	 III	 I	 IV	
	 (B)	 I	 II	 III	 IV
	 (C)	 III	 I	 II	 IV
	 (D)	 II	 I	 III	 IV
		  Match List – I with List – II and select the correct answer from the codes given below.
	                          List – I	                          	                          List – II
		  a.	 Dictatorship of proletariate	 I.	 Gramsci
		  b.	 Communist Party	 II.	 Karl Marx
		  c.	 Hegemony	 III.	 Lenin
		  d.	 New working class	 IV.	 Tom Bottomore
	              Codes :
		  a 	 b 	 c 	 d 
	 (A)	 II	 III	 I	 IV
	 (B)	 I	 II	 III	 IV
	 (C)	 III	 I	 II	 IV
	 (D)	 II	 I	 III	 IV

	 44.	 {ZåZ{b{IV _| go S>o{dS> B©ñQ>Z Ho$ AZwgma, ì`dhmadmX Ho$ H$m¡Z-gm/go bú` h¢ ? 
	 1.	 ì`dhmadmXr AÜ``Z Ho$db gË`mnZ VH$ZrH$s à`moJ Ed§ àXe©Z {Z_m©©U H$mo bú` _mZVm h¡ &
	 2.	 _mZH$sH$aU, ì`dñWmd¥{ÕH$aU,	 g_J«Vm Ed§ {Z`_Z ì`dhmadmXr AÜ``Zm| Ho$ _w»` VËd hmoVo h¢ &
		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE : 

	 (A)	 Ho$db 1	 (B)	 Ho$db 2	 (C)	 XmoZm| 1 Am¡a 2		  (D)	Z Vmo 1 Zm hr 2
		      Which of the following is /are the main aims of behaviourism, according to David Easton ?
	 1.	 The behavioural studies aim at the verification, use of techniques and model 	 	 	 	 	
		  building only.
	 2.	 The quantification, systematisation, integration and regularities are the main 	 	 	 	 	
		  elements of behavioural studies.
		  Choose the correct answer from the options given below :

	 (A)	 Only 1	 (B)	 Only 2	 (C)	 Both 1 and 2	 (D)	 Neither 1 nor 2

	 45.	 ‘ZmJarH$ g§ñH¥${V’ Ho$ {dMma Ho$ {dH$mg hoVw Amb_§S> Am¡a ~oa~m Zo {ZåZ{b{IV _| go {H$g EH$ Xoe H$m ^r AÜ``Z 
{H$`m Wm ?

	 (A)	 ^maV	 (B)	 _opŠgH$mo	 (C)	AO}ÝQ>rZm		  (D)	BÝS>moZr{e`m
		  Which one of the following countries was also studied by Almond and Verba to evolve the idea of ‘Civic 

Culture’ ?
	 (A)	 India	 (B)	 Mexico	 (C)	 Argentina		  (D)	 Indonesia
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	 46.	 {ZåZ{b{IV _| go H$m¡Z-gm `w½_ ghr gw_o{bV Zht h¡ ?
	 (A)	 AmW©a> ~¡ÝQ>bo	 –	 X àm°gog Am°\$ JdZ©_|Q>
	 (B)	 Mmëg© _¡[a`_	 –	 Ý`y AñnoŠQ> Am°\$ nm°{b{Q>Šg
	 (C)	 S>o{dS> B©ñQ>Z	 – 	 X  ñQ´>ŠMa Am°\$ gm§B{Q>{\$H$ [admoë`yeZ
	 (D)	 J«hm_ dmbog	 –	 øy_Z ZoMa BZ nm°{b{Q>Šg

		  Which of the following pairs is incorrectly matched ?
	 (A)	 Arthur Bentley	 –	 The process of Government
	 (B)	 Charles Merriam	 –	 New Aspect of politics
	 (C)	 David Easton 	 – 	 The structure of scientific revolution
	 (D)	 Graham Wallas	 –	 Human Nature in politics

	 47.	 Am°aJoÝgH$s Ho$ AZwgma, amOZr{VH$ {dH$mg H$s {ZåZ{b{IV AdñWmE± h¢ &
	 1.	 EH$sH$aU
	 2.	Am¡ÚmoJrH$aU
	 3.	 àMwaVm
	 4.	 amîQ´>r` H$ë`mU
	         ZrMo {XE JE Hy$Q> H$s ghm`Vm go ghr H$mbmZwH«$_ loUr ~VmE± &
	            Hy$Q> :
	 (A) 	1  2  3  4		  (B) 1   2    4    3 	          (C)   1   3   4   2      	 (D)	 2  1  3   4
		  According to organski following are the stages of political development.
	 1.	 Integration
	 2.	 Industrialisation
	 3.	 Abundance
	 4.	 National welfare
	             Indicate the correct chronological sequence with the help of codes given below.
	              Codes : 
	 (A) 	1  2  3  4		  (B) 1   2    4    3 	          (C)   1   3   4   2      	 (D)	 2  1  3   4

	 48.	 Amb_§S> Ho$ AZwgma,{ZåZ{b{IV _| go ì`dñWm H$s {deofVmE± H$m¡Z-gr h¡ ? 

	 1.	 gd©ì`mnH$Vm `m g_J«Vm
	 2.	AÝV{Z©^©aVm
	 3.	 gr_mAm| H$m ApñVËd

	 4.	 g§gmYZm| H$s CnbãYVm

	         ZrMo {XE JE Hy$Q>m| _| go ghr CÎma H$m M`Z H$s{OE &
	            Hy$Q> :
	 (A)	 1,  2  Am¡a  3	 (B)	 1,  2  Am¡a  4	 (C)	 1,  3  Am¡a  4	 (D)	 2,  3  Am¡a  4
		  Which of the following are the characteristics of the system, according to Almond ?
	 1.	 Comprehensiveness
	 2.	 Interdependence
	 3.	 Existence of boundaries
	 4.	 Availability of resources
	              Select  the correct answer from the codes given below.
	              Codes : 
	 (A)	 1,  2  and  3	 (B)	 1,  2  and  4	 (C)	 1,  3  and  4	 (D)	 2,  3  and  4
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	 49.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE Am¡a ZrMo {XE JE Hy$Q>m| _| go ghr CÎma H$m M`Z H$s{OE &

	                         gyMr – I	                      	                                        gyMr – II

		   (nwñVH$)			     (boIH$/ g§nmXH$)

	 a.	 {Z`mo-[a`{bO_ E§S> BQ²>g {H«${Q>Šg	 I.	 H$m¡{Q>ë`

	 b.	 ê$Q²>g Am°\$ [a`{bO_			   II.	 Ho$. EZ. dmëQ²>O

	 c.	 _¡Z, X ñQ>oQ> E§S> dma			   III.	 Ama. Amo. Š`mohoZ

	 d.	 AW©emñÌ			   IV.	 ~r. \«|$Ho$b

	             Hy$Q> :
		  a 	 b 	 c 	 d 
	 (A)	 IV	 II	 III	 I
	 (B)	 III	 IV	 II	 I
	 (C)	 II	 IV	 III	 I
	 (D)	 I	 II	 III	 IV

		  Match List – I with List – II and select the correct answer from the codes given below.
	                          List – I	                          		       List – II
		   (Books)				    (Author/ Editor)
		  a.	 Neo-realism and its critics	 I.	 Kautilya
		  b.	 Roots of realism	 II.	 K. N. Waltz
		  c.	 Man, The State and war	 III.	 R. O. Keohane
		  d.	 Arthashastra	 IV.	 B. Frankel

	              Codes :
		  a 	 b 	 c 	 d 
	 (A)	 IV	 II	 III	 I
	 (B)	 III	 IV	 II	 I
	 (C)	 II	 IV	 III	 I

	 (D)	 I	 II	 III	 IV		

	 50.	 {H$gZo g§KdmX H$mo ‘ñd-emgZ Am¡a gmPm-emgZ’ Ho$ ê$n _| n[a^m{fV {H$`m h¡ ?

	 (A)	 S>o{Z`b âbmOma	 (B)	 Om°Z {H$ZH¡$S>	 (C)	 H$m¡{Q>ë`	 (D)	 S>moZmëS> ñQ>moZ

	 	 Who defines federalism as a system of ‘Self-rule and shared-rule’ ?

	 (A)	 Daniel Flazar	 (B)	 John Kinkaid	 (C)	 Kautilya	 (D)	 Donald Stone

	 51.	 {ZåZ{b{IV _| go H$m¡Z amOZr{VH$ {dH$mg H$m {gÕm§VH$ma Zht h¡ ?
	 (A)	 by{g`Z nmB©			   (B)	 Omogo\$ bm nmbmoå~am
	 (C)	Aa|Q> {bÁ\$Q>©			   (D)	 Ooåg H$mob_¡Z

		  Who among the following is not a theorist of political development ?

	 (A)	 Lucian Pye			   (B)	 Joseph La Palombara

	 (C)	 Arendt Lijphart			   (D)	 James Coleman
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	 52.	 {ZåZ{b{IV ñdV§ÌVmAm| H$mo ^maVr` g§{dYmZ Ho$ AZwÀN>oX 19 _| CZHo$ àñVwV hmoZo Ho$ H«$_ _| ì`dpñVV H$s{OE &

	 1.	 {H$gr ^r ì`dgm` H$mo H$aZm &

	 2.	 g§K `m `y{Z`Z ~ZmZm &

	 3.	 ^maV Ho$ {H$gr ^r joÌ _| ajm `m ~gZm &

	 4.	 {~Zm h{W`ma Ho$ em§{Vnyd©H$ EH${ÌV hmoZm &

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$mo Mw{ZE &

	 (A)	 1, 2, 3, 4	 (B)	 4, 3, 2, 1	 (C)	 2, 4, 1, 3	 (D)	 4, 2, 3, 1

		  Arrange the following freedoms in order of their appearance under Article 19 of Indian Constitution.

	 1.	 To practice any profession.

	 2.	 To form association or union.

	 3.	 To reside or settle in any part of the territory of India.

	 4.	 To assemble peaceably and without arms.

		  Choose the correct answer from the options given below :

	 (A)	 1, 2, 3, 4	 (B)	 4, 3, 2, 1	 (C)	 2, 4, 1, 3	 (D)	 4, 2, 3, 1

	 53.	 ^maVr` g§Kr` ì`dñWm H$s {deofVmE§ h¡ :

	 1.	 epŠV H$m {d^mOZ &

	 2.	 epŠV H$m n¥WŠH$aU &

	 3.	 ñdV§Ì Ý`m`nm{bH$m &

	 4.	 àYmZ_§Ìr H$m ZoV¥Ëd &

	 5.	 {b{IV g§{dYmZ &

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m MwZmd H$s{OE & 

	 (A)	 2, 3 Am¡a 5			   (B)	 1, 4 Am¡a 5	

	 (C)	 1, 2 Am¡a 5			   (D)	 1, 3 Am¡a 5

		  The features of Indian federal system are :

	 1.	 Division of power.

	 2.	S eparation of power.

	 3.	 Independent judiciary.

	 4.	 Leadership of the Prime Minister.

	 5.	 A written constitution.

		  Choose the correct answer from the options given below.

	 (A)	 2, 3 and 5			   (B)	 1, 4 and 5	

	 (C)	 1, 2 and 5			   (D)	 1, 3 and 5
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	 54.	 ^maV Ho$ amîQ´>n{V H$s {ZfoYm{YH$ma epŠV _| {ZåZ{b{IV _| go {H$gH$m g_m`moOZ h¡ ?
	 1.	 Oo~r {ZfoYm{YH$ma &
	 2.	 nyU© {ZfoYm{YH$ma &
	 3.	 {db§~ZH$mar {ZfoYm{YH$ma &
	 4.	 geV© {ZfoYm{YH$ma &
		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m MwZmd H$s{OE :
	 (A)	 2 Am¡a 3	 (B)	 1, 3 Am¡a 4	 (C)	 2, 3 Am¡a 4		  (D)	1, 2 Am¡a 3
		  The Indian President’s Veto Power is a combination of 
	 1.	 Pocket Veto.
	 2.	 Absolute Veto.
	 3.	S uspensive Veto.
	 4.	 Qualified Veto.
		  Choose the correct answer from the options given below :
	 (A)	 2 and 3	 (B)	 1, 3 and 4	 (C)	 2, 3 and 4		  (D)	1, 2 and 3

	 55.	 {XE JE Hy$Q>m| H$m Cn`moJ H$aVo hþE {ZåZ{b{IV H$mo H$mbmZwH«$_ _| ì`dpñVV H$a| &
	 1.	 Ho$edmZÝX ^maVr Ho$g &
	 2.	 JmobH$ZmW Ho$g & 
	 3.	 {_Zdm© {_ëg Ho$g &
	 4.	 g‚mZ qgh Ho$g &
	      Hy$Q> : 
	 (A)	 3, 2, 4, 1	 (B)	 1, 4, 3, 2	 (C)	 4, 2, 1, 3		  (D)	2, 4, 3, 1
		  Using the given codes, arrange the following chronologically.
	 1.	 Keshavanand Bharti Case.
	 2.	 Golaknath Case.
	 3.	 Minerva Mills Case.
	 4.	S ajjan Singh Case.
	           Codes :
	 (A)	 3, 2, 4, 1	 (B)	 1, 4, 3, 2	 (C)	 4, 2, 1, 3		  (D)	2, 4, 3, 1

	 56.	 àm{Vn{XH$m
	 1.	 ~OoQ>[a à{H«$`m g§gX _| {d{^Þ MaUm| go hmoH$a JwOaVr h¡ &
	 2.	 BgH$m Amaå^ g§gX _| ~OQ> H$s àñVwVrH$aU go hmoVm h¡ &
	 3.	 BgHo$ àmdYmZm| na gm_mÝ` ~hg>> Ho$ ~mX ~OQ> H$mo nmg H$a {X`m OmVm h¡ &
	 4.	 {d{Z`moJ {dYo`H$ gm_mÝ` ~OQ> H$m {hñgm hmoVm h¡ &
	 5.	 {dÎm {dYo`H$ H$amYmZ H$m {dYo`H$ hmoVm h¡ &
		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$a| :
	 (A)	 Ho$db 1, 2, 3	 (B)	 Ho$db 1, 2, 4	 (C) 	Ho$db 2, 3, 4		  (D)	Ho$db 3, 4, 5
		  Insert stem.
	 1.	 Budgetary process passes through certain stages in parliament.
	 2.	 It begins with presentation of budget in the house.
	 3.	 Budget is passed after general discussion on its provisions.
	 4.	 Appropriation bill is a part of general budget.
	 5.	 Finance bill is a bill of taxation.
		  Choose the correct answer from the options given below :
	 (A)	 1, 2, 3 only	 (B)	 1, 2, 4 only	 (C)	 2, 3, 4 only		  (D)	3, 4, 5 only
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	 57.	 àm{Vn{XH$m

	 1.	 {Z`moOZ _m¡{bH$$ ê$n go {~«{Q>e AW©ì`dñWm H$m {dMma Wm &

	 2.	 ^maV Zo Bgo nyd© gmo{d`V g§K go A§JrH¥$V {H$`m Wm &

	 3.	 ^maV _| {Z`moOZ Ho$ _w»` {Z_m©Vm Odmhabmb Zohê$ Wo &

	 4.	 ^maV _| A~ VH$ nÝÐh n§Mdfu` `moOZmAm| H$m {H«$`mÝH$_Z hþAm h¡ &

	 5.	 dV©_mZ _| Xoe _| Zr{V Am`moJ {Z`moOZ H$m à_wI Amaå~ h¡ &

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$a| &

	 (A)	 Ho$db 1, 2, 3 			   (B)	 Ho$db 2, 3, 4 	

	 (C)	 Ho$db 2, 3, 5 			   (D)	 Ho$db 3, 4, 5 

		  Insert stem.

	 1.	 Planning was originally the idea of British economy.

	 2.	 India adopted it from former Soviet Union.

	 3.	 Jawaharlal Nehru was the main architect of planning in India.

	 4.	 India has implemented fifteen five year plans so far.

	 5.	 Presently NITI Aayog is the mainstay of planning in the country.

		  Choose the correct answer from the options given below :

	 (A)	 1, 2, 3 only			   (B)	 2, 3, 4 only	

	 (C)	 2, 3, 5 only			   (D)	 3, 4, 5 only

	 58.	 {ZåZ{b{IV Zr{V {ZX}eH$ {gÕm§Vm| H$mo ^maVr` g§{dYmZ _| CZHo$ àmßV hmoZo Ho$ ghr H«$_ _| ì`dpñWV H$s{OE &

	 I.	 g_mZ Ý`m` Am¡a {Z:ewëH$ {d{YH$ ghm`Vm &

	 II.	 Ý`m`nm{bH$m H$mo H$m`©H$m{bH$m go àWH$ H$aZm &

	 III.	 J«m_ n§Mm`Vm H$m JR>Z &

	 IV.	 H$_©Mm[a`m| Ho$ {bE {Zdm©h doVZ BË`mXr &

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$mo Mw{ZE :
	 (A)	 IV, III, II, I			   (B)	 I, III, IV, II	

	 (C)	 I, II, III, IV			   (D)	 IV, I, III, II

		  Arrange the following directive principles in order of their appearance in the Indian Constitution.

	 I.	 Equal justice and free legal aid.

	 II.	S eparation of judiciary from executive.

	 III.	 Organization of village panchayats.

	 IV.	 Living wage, etc. for workers.

		  Choose the correct answer from the options given below :

	 (A)	 IV, III, II, I			   (B)	 I, III, IV, II	

	 (C)	 I, II, III, IV			   (D)	 IV, I, III, II
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	 59.	 {ZåZ{b{IV _| go H$m¡Z-go H$WZ gË` h¢ ?

	 a.	 ^maV _| MwZmd gwYma AË`{YH$ Ano{jV h¢ &

	 b.	 ~r. nr. OrdZ aoS²>S>r g{_{V Zo MwZmdm| Ho$ amÁ` {dÎmnmofU H$m {damoY {H$`m &

	 c.	 BÝÐOrV JwßVm g{_{V Zo MwZmAm| Ho$ amÁ` {dÎmnmofU H$m g_W©Z {H$`m &

	 d.	 MwZmd gwYmam| H$mo A~ g§gX Ûmam ñdrH$ma H$a {b`m J`m h¡ &

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE :

	 (A)	 Ho$db a, b, c 			   (B)	 Ho$db a, c, d 	

	 (C)	 Ho$db b, c, d 			   (D)	 Ho$db a, b, d 

		  Which of the following statements are correct ?

	 a.	 Electoral reforms are much desired in India.

	 b.	 B. P. Jeevan Reddy Committee opposed state funding of elections.

	 c.	 Indrajit Gupta Committee supported state funding of elections.

	 d.	 Electoral reforms have now been accepted by parliament.

		  Choose the correct answer from the options given below :

	 (A)	 a, b, c only			   (B)	 a, c, d only	

	 (C)	 b, c, d only			   (D)	 a, b, d only

	 60.	 ñWmZr` emgZ na {ZåZ{b{IV g{_{V`m| H$mo ghr H$mbmZwH«$_ _| ì`dpñWV H$a| &

	 I.	 AemoH$ _ohVm g{_{V &

	 II.	 Eb. E_. {g§Kdr g{_{V &

	 III.	 Or. dr. Ho$. amd g{_{V &

	 IV.	 nr. Ho$. Ww§JZ g{_{V &

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{Z`o :

	 (A)	 I, II, III, IV			   (B)	 IV, III, II, I

	 (C)	 I, III, II, IV			   (D)	 I, IV, III, II

		  Arrange the following Committees on local government in chronological order.

	 I.	 Ashok Mehta Committee.

	 II.	 L. M. Singhavi Committee.

	 III.	 G. V. K. Rao Committee.

	 IV.	 P. K. Thungan Committee.

		  Choose the correct answer from the options given below :

	 (A)	 I, II, III, IV			   (B)	 IV, III, II, I

	 (C)	 I, III, II, IV			   (D)	 I, IV, III, II
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	 61.	 {ZåZ{b{IV H$WZm| na {dMma H$s{OE Am¡a AgË` H$WZ H$mo B§{JV H$s{OE &

	 1.	 g§{dYmZ Zo MwZmd Am ẁŠV Ho$ ê$n _| {Z ẁŠV hmoZo dmbo ì`pŠV Ho$ {bE `mo½`Vm H$mo n[a^m{fV {H$`m h¡ &

	 2.	 g§{dYmZ Zo MwZmd Am`wŠV H$mo hQ>mZo Ho$ AmYma H$mo n[a^m{fV Zht {H$`m h¡ &

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE &

	 (A)	 Ho$db 1			   (B)	 Ho$db 2

	 (C)	 1 Am¡a 2 XmoZm|			   (D)	 Z Vmo 1 Am¡a Zm hr 2

		  Consider the following statements and indicate the incorrect one.

	 1.	 Constitution has defined the qualification for a person to be appointed as the election 
commissioner.

	 2.	 Constitution has not defined the grounds for removal of the election commissioner.

		  Choose the correct answer from the options given below :

	 (A)	 1 only			   (B)	 2 only

	 (C)	 Both 1 and 2			   (D)	 Neither 1 nor 2

	 62.	 73 dm± g§{dYmZ g§emoYZ n§Mm`Vr amO g§ñWmAm| H$mo {ZåZ{b{IV _| go Š`m àXmZ H$aZm MmhVm h¡ ?

	 1.	 g§d¡Ym{ZH$ XOm©

	 2.	 {dÎmr` ñdm`ÎmVm

	 3.	 d§{MV dJm] H$s gepŠVH$aU

	 4.	 {dHo$ÝÐrH¥$V {Z`moOZ

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{Z`o :

	 (A)	 1, 2 Am¡a 3			   (B)	 1, 2, 3 Am¡a 4

	 (C)	 2, 3 Am¡a 4			   (D)	 1, 2 Am¡a 4

		  73rd Constitutional amendment seeks to provide which of the following for Panchayati Raj institutions ?

	 1.	 Constitutional status

	 2.	 Financial autonomy

	 3.	 Empowerment of marginalised sections

	 4.	 Decentralised planning

		  Choose the correct answer from the options given below :

	 (A)	 1, 2 and 3			   (B)	 1, 2, 3 and 4

	 (C)	 2, 3 and 4			   (D)	 1, 2 and 4
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	 63.	 {ZåZ{b{IV H$WZm| na {dMma H$s{OE Am¡a ghr H$WZ Mw{Z`o &

	 1.	 A{dídmg àñVmd _| Z¡{VH$ AY_Vm H$m An_mZ `m bm§N>Z gpå_{bV Zht h¡ ~pëH$ `h gaH$ma H$s Zr{V H$s 	
		 AñdrH¥${V h¡ &

	 2.	 _hm{^`moJ àñVmd nm[aV hmo OmZo H$s pñW{V _| ì`dhm[aH$ ê$n go amîQ´>n{V H$m gmd©O{ZH$ OrdZ V~mh hmo OmZo Ho$ 	
		 ~am~a hmoVm h¡ &

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE &
	 (A)	 Ho$db 1			   (B)	 Ho$db 2
	 (C)	 1 Am¡a 2 XmoZm|			   (D)	 Z Vmo 1 Am¡a Zm hr 2

		  Consider the following statements and choose the correct one.

	 1.	 A no confidence motion does not involve disgrace or imputation of moral turpitude 	 	 	
		 but is only a disapproval of the government policy.

	 2.	 An impeachment motion will practically amount to the ruination of the President’s 			 
		 public career, if passed.

		  Choose the correct answer from the options given below :

	 (A)	 1 only			   (B)	 2 only

	 (C)	 Both 1 and 2			   (D)	 Neither 1 nor 2

	 64.	 ^maVr` g§Kr` ì`dñWm H$mo ‘AY©-g§Kr`’ {H$gZo H$hm ?
	 (A)	 Ho$. gÝWmZ_			   (B)	 Ho$. gr. ìho`a
	 (C)	 ga AmBda O¡qZ½g			   (D)	 J«oZ{db Am°pñQ>Z

		  Who called Indian federal system as ‘Quasi-federal’ ?

	 (A)	 K. Santhanam			   (B)	 K. C. Wheare

	 (C)	S ir Ivor Jennings			   (D)	 Granville Austin

	 65.	 n§Mm`Vr amO ì`dñWm _|o emgZ àUmbr H$s g§aMZm Š`m h¡ ?

	 (A)	 J«m_ ñVa na ñWmZr`$ ñd-emgZ H$s EH$ ñVar` g§aMZm

	 (B)	 J«m_ Am¡a I§S> ñVa na ñWmZr` ñd-emgZ H$s {Û-ñVar` g§aMZm

	 (C)	 J«m_, I§S,> {Obm Am¡a amÁ` ñVa na ñWmZr` ñd-emgZ H$s MVwñV©ar` g§aMZm

	 (D)	 J«m_, I§S> Am¡a {Obm ñVa na ñWmZr`$ ñd-emgZ H$s {Ì-ñVar` g§aMZm

		  What is the system of governance in the Panchayati Raj set-up ?

	 (A)	S ingle tier structure of local self-government at the village level

	 (B)	 Two tier system of local self-government at the village and block levels.

	 (C)	 Four tier system of local self-government at the village, block, district and state 				  
		  levels

	 (D)	 Three tier structure of local self-government at the village, block and district 					   
		  levels
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	 66.	 {ZåZ{b{IV _| go H$m¡Z-gm H$WZ gË` h¢ ?

	 a.	 H$ë`mU àemgZ H$m {dH$mg Am¡Úmo{JH$ g_mOm| _| hþAm &

	 b.	 BgZo Am¡Úmo{JH$ g_mOm| H$s gm_m{OH$ g_ñ`mAm| H$mo hb H$aZo H$m à`ËZ {H$`m &

	 c.	 BgH$m g§~§Y {ZY©ZVm, ~r_mar Am¡a AÝ` H$îQ>m| O¡go _wX²Xm| go h¡ &

	 d.	 Bg_| bmoJm| H$mo H$B© gm_m{OH$ godmAm| H$mo àXmZ H$aZm em{_b h¡ &

	 e.	 H$ë`mU àemgZ _| {ZOr joÌ H$s H$moB© ^y{_H$m Zht h¡ &

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$a| &

	 (A)	 Ho$db a, b, c, d	 (B)	 Ho$db b, c, d, e	 (C)	 Ho$db a, b, d, e	 (D)	 Ho$db a, b, d

		  Which of the following statements are correct ?

	 a.	 Welfare administration developed in industrial societies.

	 b.	 It sought to address social problems of industrial societies.

	 c.	 It deals with issues of poverty, sickness and other sufferings.

	 d.	 It involves delivery of host of social services to people.

	 e.	 Private sector has no role in welfare administration.

		  Choose the correct answer from the options given below :

	 (A)	 a, b, c, d only	 (B)	 b, c, d, e only	 (C)	 a, b, d, e only	 (D)	 a, b, d only

	 67.	 ZrMo Xmo H$WZ {XE JE h¡§ : EH$ H$mo A{^H$WZ (A) Am¡a Xÿgao H$mo VH©$ (R) H$hm J`m h¡ &

		  A{^H$WZ (A) : do~a H$s {Z{_©{V _|, Zm¡H$aemhr H$mo {g{db godmAm| Ho$ ê$n _| Zht g_PZm Mm{hE &

	 	 VH©$ (R) : do~a H$s {Z{_©{V H$s {deofVm _yë` {ZanojVm h¡ &

		  Cn`w©ŠV H$WZm| Ho$ AmbmoH$ _| {ZåZ§m{H$V {dH$ënm| _| go gdm©{YH$ Cn`wŠV CÎma MwZ§o :

	 (A)	 (A)  Am¡a (R) XmoZmo§ ghr h¡ Am¡a (R), (A) H$s ghr ì`m»`m h¡ 

	 (B)	 (A) Am¡a (R) XmoZm| ghr h¡ naÝVw (R), (A) H$s ghr ì`m»`m Zhr§ h¡ 

	 (C)	 (A) ghr h¡ naÝVw (R) JbV h¡ 

	 (D)	 (A) JbV h¡ naÝVw (R) ghr h¡ 

		  Given below are two statements : one is labelled as Assertion (A) and other is labelled as Reason (R).

		  Assertion (A) : In Weberian formulation, bureaucracy is not to be confused with the 			 
 	              civil services.

		  Reason (R) : Weberian formulation has been characterised by value-neutrality.

		  In the light of the above, choose the correct answer from the options given below :
	 (A)	 Both (A) and (R) are correct and (R) is the correct explanation of (A)
	 (B)	 Both (A) and (R) are correct but (R) is not the correct explanation of (A)
	 (C)	 (A) is correct but (R) is not correct 
	 (D)	 (A) is not correct but (R) is correct
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	 68.	 {ZåZ{b{IV _o§ go H$m¡Z-gm H$WZ ghr h¡ ? 

	 a.	 Zd bmoH$ à~§YZ H$m {dMma 1950 Ho$ XeH$ Ho$ _Ü` _| Am`m &

	 b.	 {H«$ñQ>mo\$a hþS> BgHo$ EH$ à_wI àdV©H$ h¡ &

	 c.	 ~r_ma gmd©O{ZH$ joÌ Ho$ {bE `h EH$ _mZH$ CnMma h¡ &

	 d.	 `h 3E na Adb§{~V h¡ &

	 e.	 _¡Šg do~a Zd bmoH$ à~§YZ Ho$ AJ«Jm_r Wo &

		  ZrMo {X`o JE {dH$ënm| _| go ghr CÎma H$m M`Z H$a§o :

	 (A)	 Ho$db a, b, c	 (B)	 Ho$db a, c, d	 (C)	 Ho$db c, d, e	 (D)	 Ho$db b, c, d

		  Which of the following statements are correct ?
	 a.	 The idea of new public management arose in mid-1950s.
	 b.	 Christopher Hood is one of its leading exponents.
	 c.	 It is a standard prescription for ailing public sector.
	 d.	 It is underpinned by 3Es.
	 e.	 Max Weber was precursor of new public management.

		  Choose the correct answer from the options given below :

	 (A)	 a, b, c only	 (B)	 a, c, d only	 (C)	 c, d, e only		  (D)	b, c, d only

	 69.	 ZrMo Xmo H$WZ {XE JE h¡ :

		  H$WZ – I : bmoH$ àemgZ gaH$ma Ho$ bú`m| H$mo àmßV H$aZo H$m EH$ `§Ì h¡ &

		  H$WZ – II : AR>mahdt eVmãXr _| O_©Z {dÛmZ AH$mX{_H$ AÝdofU H$s Bg emIm H$s Amoa AmH${f©V hþE &

		  Cn`w©ŠV H$WZm| Ho$ AmbmoH$ _| {ZåZ{b{IV {dH$ënm| _| go gdm©{YH$ Cn`wŠV CÎma MwZ§o :
	 (A)	 H$WZ – I  Am¡a H$WZ – II XmoZm| gË` h¡ 
	 (B)	 H$WZ – I Am¡a H$WZ – II XmZm| JbV h¡ 
	 (C)	 H$WZ – I gË` h¡ {H$ÝVw H$WZ – II JbV h¡ 
	 (D)	 H$WZ – I JbV h¡ {H$ÝVw H$WZ – II gË` h¡ 

		  Given below are two statements :

		  Statement – I : Public administration is an instrument of realisation of the goals of 			 
   	             government.

		  Statement – II : In the eighteenth century German scholars felt interested in this branch 			 
	              of academic enquiry.

		  In the light of the above, choose the correct answer from the options given below :

	 (A)	 Both statement – I and statement – II are true

	 (B)	 Both statement – I and statement – II are false

	 (C)	S tatement – I is true but statement – II is false

	 (D)	S tatement – I is false but statement – II is true
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	 70.	 Zd bmoH$ àemgZ _| H$m¡Z-go VËd em{_b h¡ ?

	 1.	 Cn^moŠVm Ho$pÝÐV emgZ

	 2.	 CÎma àË`jdmX

	 3.	 {dZm¡H$aemhrH$aU

	 4.	 bmoH$Vm§[ÌH$ {ZU©` {Z_m©U

	 5.	 àemg{ZH$ {H«$`m H$m {dHo$pÝÐ`H$aU

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$a§o :

	 (A)	 Ho$db 1, 2, 3, 4 Am¡a 5			   (B)	 Ho$db 1, 2 Am¡a 3

	 (C)	 Ho$db 1, 3 Am¡a 4			   (D)	 Ho$db 2, 3 Am¡a 5

		  The features of New Public Administration includes
	 1.	 Client –focused administration.
	 2.	 Post – positivism.
	 3.	 Debureaucratisation.
	 4.	 Democratic decision-making.
	 5.	 Decentralisation of administrative process.
		  Choose the correct answer from the options given below :

	 (A)	 1, 2, 3, 4 and 5 only			   (B)	 1, 2 and 3 only

	 (C)	 1, 3 and 4 only			   (D)	 2, 3 and 5 only

	 71.	 {ZåZ{b{IV _| go {H$gZo àemgZ Ho$ EH$sH¥$V Ñ{ï>H$moU H$m g_W©Z Zht {H$`m h¡ ?

	 1.	 Eb. S>r. ìhmBQ>

	 2.	 h~©Q>© gmB_Z

	 3.	 byWa Jw{bH$

	 4.	 E\$. E_. _mŠg©

		  ZrMo {X`o JE {dH$ënm| _| go ghr CÎma H$m M`Z H$a§o :

	 (A)	 1 Am¡a 2			   (B)	 2 Am¡a 3	

	 (C)	 3 Am¡a 4			   (D)	 4 Am¡a 1

		  Who among the following do not support the integral view of administration ?
	 1.	 L. D. White
	 2.	 Herbert Simon
	 3.	 Luther Gulick
	 4.	 F. M. Marx

		  Choose the correct answer from the options given below :

	 (A)	 1 and 2			   (B)	 2 and 3	

	 (C)	 3 and 4			   (D)	 4 and 1
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	 72.	 {ZåZ{b{IV _| go {H$gZo “H¥$Ë`gyMH$ {ZX}eZ” H$s AdYmaUm Xr ?
	 (A)	 hoÝar \o$`mob			   (B)	 byWa Jw{bH$
	 (C)	 {bÊS>b C{d©H$			   (D)	 E\$. S>ãë`y. Q>oba

		  Who among the following has given the concept of “functional foremanship” ?

	 (A)	 Henry fayol			   (B)	 Luther Gulick

	 (C)	 Lyndall  Urwick			   (D)	 F. W. Taylor

	 73.	 A_o[aH$s bmoH$ godm _| byQ>-nÕ{V {H$gHo$ H$mb _| àYmZ ~Z JB© Wr ?
	 (A)	 amï´>n{V dmqe½Q>Z			   (B)	 amï´>n{V O¡\$agZ
	 (C)	 amï´>n{V dwS>amo {dëgZ			   (D)	 amï´>n{V O¡H$gZ

		  The “spoil system” became a dominant feature of the American civil services during the period of which 
President ?

	 (A)	 President Washington			   (B)	 President Jefferson

	 (C)	 President Woodrow wilson	 (D)	 President Jackson

	 74.	 ^maV _| {ZînmXZ ~OQ> H$m àma§^ {H$g df© _§o {H$`m J`m Wm ?

		  The performance budget was introduced in India in the year

	 (A)	 1958			   (B)	 1964	

	 (C)	 1968			   (D)	 1978

	 75.	 {ZåZ{b{IV _| go {H$Z bmoH$ godmAm| H$m CëboI ^maVr` g§{dYmZ _| {H$`m J`m h¡ ?
	 a.	 ^maVr` àemg{ZH$ godm
	 b.	 ^maVr` dZ godm
	 c.	 ^maVr` nw{bg godm
	 d.	A{Ib ^maVr` Ý`m{`H$ godm
	 e.	 ^maVr` {dXoe godm

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{ZE :

	 (A)	 a Am¡a c			   (B)	 a, c Am¡a d	

	 (C)	 a, b Am¡a c			   (D)	 a, b Am¡a e

		  Which of the following civil services are mentioned in the constitution of India ?

		  a.	 Indian Administrative service
		  b.	 Indian Forest service
		  c.	 Indian Police service
		  d.	 All India Judicial service
		  e.	 Indian Foreign service

		  Choose the correct answer from the options given below :

	 (A)	 a and c			   (B)	 a, c and d	

	 (C)	 a, b and c			   (D)	 a, b and e
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	 76.	 {ZåZ{b{IV _| go H$m¡Z-gm g§K bmoH$ godm Am`moJ go g§~§{YV Zht h¡ ?
	 (A)	 ^Vu			   (B)	 nXmoÝZ{V
	 (C)	 godmAm| H$m dJuH$aU			   (D)	AZwemgZ g§~§Yr {df`

		  Which of the following does not concern the union public service commission ?

	 (A)	 Recruitment			   (B)	 Promotion

	 (C)	 Classification of services	 	 (D)	 Disciplinary matter

	 77.	 {ZåZ{b{IV H$WZm| _| go H$m¡Z-gm EH$ H$WZ grYr ^Vu Ho$ g§X^© _| ghr Zht h¡ ?
	 (A)	 `h bmoH$V§Ì Ho$ {gÕm§Vm| Ho$ AZê$n h¡ 
	 (B)	 `h ^Vu Ho$ joÌ H$mo ì`mnH$ ~ZmVr h¡ 
	 (C)	 `h ZE aŠV Am¡a VmOr à{V^m H$mo godmAm| _§o bmVr h¡  
	 (D)	 `h nXmoÝZ{V Ho$ _mJ© H$mo àeñV H$aVr h¡ 
		  Which of the following statements regarding direct recruitment is not correct ?
	 (A)	 It is in accordance with the principles of democracy
	 (B)	 It broadens the area of recruitment
	 (C)	 It brings new blood and fresh talent
	 (D)	 It widens the avenues of promotion

	 78.	 {ZåZ{b{IV _| go g§̀ wŠV amḯ> g§K Ho$ MmQ>©a Ho$ H$m¡Z-go AZwÀN>oX àmXo{eH$ ì`dñWmAm| go g§~§{YV h¡ ?
	 (A)	AZwÀN>oX  50 – 51			   (B)	AZwÀN>oX  52 – 54

	 (C)	AZwÀN>oX  55 – 57			   (D)	 Cn`©wŠV _o§ go {H$gr AZwÀN>oX _| Zht

		  Which of the following articles are related to the regional arrangements in the charter of the united Nations 
organisations ?

	 (A)	 Articles 50 – 51			   (B)	 Articles 52 – 54
	 (C)	 Articles 55 – 57			   (D)	 None of the above articles

	 79.	 “amOZr{VH$ g§X^© _| epŠV H$m AW© h¡ - _Zwî` H$s epŠV Omo Xÿgao _Zwî`m| Ho$ _pñVîH$$ Am¡a H$m`m] Ho$ D$na hmo” & `h 
{H$gZo H$hm ?

	 (A)	 _m°aJ¡ÝWmD$			   (B)	 _¡Šg do~a	

	 (C)	 hmQ>©_¡Z			   (D)	 E_. Or. pñ_W
		  “Power in political context means power of man over minds and actions of other men”. Who said this ?
	 (A)	 Morgenthau			   (B)	 Max Weber	
	 (C)	 Hartman			   (D)	 M. G. Smith

	 80.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ amï´>r` {hV H$m VËd Zht h¡ ?

	 (A)	 epŠV			   (B)	 `wÕ

	 (C)	 empÝV			   (D)	 gm§ñH¥${VH$ EH$Vm H$s ajm

		  Which of the following is not an element of national interest ?
	 (A)	 Power			   (B)	 War
	 (C)	 Peace			   (D)	 Protection of cultural unity
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	 81.	 erV`wÕ Ho$ g_` bmB© JB© _me©b `moOZm H$m {Z{hVmW© Wm 

	 (A)	 V¥Vr` {díd H$s AW©ì`dñWmAmo§ H$m {Z_m©U

	 (B)	 npíM_r `yamonr` AW©ì`dñWmAm§o H$m nwZ{Z©_m©U

	 (C)	 CÎma A_o[aH$s Xoem§o H$s AW©ì`dñWmAm§o H$m nwZ{Z©_m©U

	 (D)	A\«$sH$s Xoem§o H$s AW©ì`dñWmAm§o H$m nwZ{Z©_m©U
		  The Marshall plan brought during the cold war was meant for 
	 (A)	 Building third world economies
	 (B)	 Rebuilding western European economies
	 (C)	 Rebuilding economies of North American countries
	 (D)	 Construction of economies of African countries

	 82.	 {ZåZ{b{IV Obdm`w n[adV©Z gå_obZm| H$mo H$mbmZwH«$_ _§o ì`dpñWV H$s{OE &
	 1.	 [a`mo S>o OoZoamo (n¥Ïdr gå_obZ)
	 2.	 Š`moQ>mo àmoQ>moH$mob
	 3.	 H$mnoZhoJZ gå_obZ
	 4.	 ~mbr gå_obZ
	        ZrMo {XE JE {dH$ënmo§ _§o go ghr CÎma H$mo Mw{Z`o :

	 (A)	 1, 3, 4 Am¡a 2 	 (B)	 2, 4, 1 Am¡a 3	 (C)	 1, 2, 4, Am¡a 3	 (D)	 4, 2, 3 Am¡a 1

		  Arrange the following climate change conventions in chronological order.
		  1.	 Rio de Janeiro (Earth Summit)
		  2.	 Kyoto Protocol
		  3.	 Copenhagen conference
		  4.	 Bali conference

		  Choose the  correct answer from the options given below :

	 (A)	 1, 3, 4 and 2 	 (B)	 2, 4, 1 and 3	 (C)	 1, 2, 4, and 3	 (D)	 4, 2, 3 and 1

	 83.	 {H$gH$m _V h¡ {H$ ^maV Ho$ Z¡{VH$ _yë`m| Zo BgH$s {dXoe Zr{V H$mo em§{Vnyd© gh ApñVËd Am¡a {d{dYVm _| EH$Vm Ho$ 
{gÕm§Vm§o na MbmZo H$m AmYma àXmZ {H$`m h¡ ?

	 (A)	 Wmog©Q>Z dmoOoñH$s	 (B)	 _H$moQ>mo H$mo{O_m	 (C)	 _mJ© aoQ>> {\$ea		  (D)	amOrd grH$ar

		  Who holds that India’s moral values also provided the basic for conduct of its foreign policy on principles 
of peaceful co-existence and unity in diversity ?

	 (A)	 Thorston Wojczewski	 (B)	 Makoto Kojima	 (C)	 Margaret Fisher		  (D)	Rajiv Sikri

	 84.	 ‘EQ>_ \$ma nrg’ Zm_H$ {ZeñÌrH$aU H$s `moOZm H$m {dMma  {H$gZo {X`m Wm ? 

	 (A)	 Odmhabmb Zohê$			   (B)	 Om°Z E\$. H¡$ZoS>r

	 (C)	 S²>dmBQ> AmBOoZ hm°H$a			   (D)	 {Z{H$Vm ¼wíMod

		  Who among the following presented the concept of ‘Atom for Peace’ as a disarmament plan ?

	 (A)	 Jawaharlal Nehru			   (B)	 John F. Kennedy

	 (C)	 Dwight Eisenhower			   (D)	 Nikita Khruschev
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	 85.	 {ZåZ{b{IV _| go {díd Ho$ AÝVJ©V AmV§H$dmX Ho$ àH$ma H$m¡Z-go h¡ ?

	 1.	 H«$m§{VH$mar AmV§H$dmX Am¡a Cn-H«$m§{VH$mar AmV§H$dmX 

	 2.	 {dMmaYmamË_H$ AmV§H$dmX, O¡d Am§VH$dmX Am¡a n`m©daUr` Am§VH$dmX Ho$db

	        ZrMo {XE JE {dH$ënm§o _| go ghr CÎma H$mo Mw{Z`o 

	 (A)	 Ho$db 1	 (B)	 Ho$db 2	 (C)	 1 Am¡a 2 XmoZm§o	 (D)	 Z Vmo 1 Am¡a Zm hr 2

		  Which of the following are the types of terrorism in the world ?

		  1.	 Revolutionary terrorism and sub-revolutionary terrorism.

		  2.	 Ideological terrorism, bio terrorism and eco-terrorism only.

		  Choose the correct answer from the options given below :

	 (A)	 1 Only	 (B)	 2 Only	 (C)	 Both 1 and 2	 (D)	 Neither 1 nor 2

	 86.	 ‘erV `wÕ’ eãX H$m à`moJ gd©àW_ {H$gZo {H$`m ? 

	 (A)	 àmo\o$ga {bn_¡Z	 (B)	 _m°aJ¡ZWmD$	 (C)	 ~Zm©S>© ~éM	 (D)	 BZ_| go H$moB© Zhr§

	 	 The term ‘Cold war’ was first used by whom ?

	 (A)	 Professor Lipman	 (B)	 Morgenthau	 (C)	 Bernard Baruch	 (D)	 None of these

	 87.	 H$mobå~mo g_Pm¡Vm, 1962 H$m g§~§Y h¡

	 (A)	 ^maV-MrZ gr_m {ddmX			   (B)	 lrb§H$m H$s V{_b g_ñ`m go 

	 (C)	 ^maV Am¡a lrb§H$m Ho$ Amngr _V^oX go	 (D)	 CnamoŠV _| go H$moB© Zht

		  Colombo agreement, 1962 is related to 

	 (A)	 India-China boarder dispute	 (B)	 Tamil problem in Sri lanka

	 (C)	 Due to difference between India and Sri lanka	 (D)	 None of the above

	 88.	 {ZåZ{b{IV _| go {H$gZo gd©àW_ ‘noaoñQ´>moBH$m’ Am¡a ‘½bmgZmoñV’ eãXm§o H$m à`moJ {H$`m ?

	 (A)	 {b`mo{ZX ~«oPZod			   (B)	 Omogo\$ ñQ>m{bZ

	 (C)	 {_ImBb Jmo~m©Mod			   (D)	 {Z{H$Vm ¼wíMod

		  Who among the following coined the terms ‘perestroika’ and ‘Glasnost’ for the first time ?

	 (A)	 Leonid Brezhnov			   (B)	 Joseph Stalin

	 (C)	 Mikhail Garbachev			   (D)	 Nikita Khruschev

	 89.	 {ZåZ{b{IV _o§ go {H$g ZoVm Zo JwQ>-{Zanoj AmÝXmobZ H$mo ‘AÝVam©îQ´>r` N>bmdm’ H$hm Wm ? 

	 (A)	 {\$Xob H$mñÌmo			   (B)	 H$Z©b JX²Xm\$s	

	 (C)	 Oy{b`g Ý`maoao			   (D)	 BZ_| go H$moB© Zhr§

		  Which of the following leaders described the non-alignment movement as an ‘international hoax’ ?

	 (A)	 Fidel Castro	 	 	 (B)	 Colonel Gaddafi	

	 (C)	 julius Nyerere			   (D)	 None of these
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	 90.	 ZrMo ^maVr` {dXoe Zr{V Ho$ ~mao _| Xmo H$WZ {XE JE h¢ &
		  H$WZ – I : `h em§{V, {_ÌVm, em§{Vnyd© gh ApñVËd VWm g{Md JwQ>m| Ho$ _Ü` goVw H$s Zr{V h¡ & 
		  H$WZ – II : `h gm_«mÁ`dmX, Om{VdmX VWm Cn{ZdoedmX H$m {damoY H$aVr h¡ &

		  Cn`w©ŠV Ho$ AmbmoH$ _| ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{Z`| &
	 (A)	 XmoZm| H$WZ – I Am¡a H$WZ – II ghr h§¡ 
	 (B)	 XmoZm| H$WZ – I Am¡a H$WZ – II JbV h§¡
	 (C)	 H$WZ – I ghr h¡ {H$ÝVw H$WZ – II JbV h¡§
	 (D)	 H$WZ – I JbV h¡ {H$ÝVw H$WZ – II ghr h§¡
		  Given below are two statements about the foreign policy of India.
	 	 Statement – I : It is a policy of peace, friendship, peaceful co-existence and bridge 			 

   		   between power blocks.
		  Statement – II : It opposes imperialism, racialism and colonialism.

		  In the light of the above, choose the correct answer from the options given below :
	 (A)	 Both statement I and statement II are true
	 (B)	 Both statement I and statement II are false
	 (C)	S tatement  I is true but statement II is false
	 (D)	S tatement I is false but statement II is true

	 91.	 {ZåZ{b{IV _| go {H$g Am`moJ/{ZH$m` H$m JR>Z 1964 _| hþAm Wm ?

	 (A)	 àemg{ZH$ gwYma Am`moJ			   (B)	 amîQ´>r` _mZdm{YH$ma Am`moJ

	 (C)	 Ho$ÝÐr` AÝdofU ã`yamo			   (D)	 Ho$ÝÐr` gVH©$Vm Am`moJ
		  Which of the following commission/body was formed in 1964  ?
	 (A)	 Administrative Reforms commission	 (B)	 National Human Rights commission
	 (C)	 Central Bureau of Investigation	 (D)	 Central Vigilance commission

	 92.	 _hmË_m Jm§Yr amîQ´>r` amoOJma J¡a§Q>r A{Y{Z`_ Ho$ ~mao _| H$m¡Z-go H$WZ gË` h¢ ?

	 a.	 `h 2006 _| nm[aV {H$`m J`m Wm &

	 b.	 Bgo 2006 _| hr {H«$`mpÝdV {H$`m J`m Wm &

	 c.	Ama§^ _| Bgo Xoe Ho$ 100 {Obmo _| {H«$`mpÝdV {H$`m J`m Wm &

	 d.	 `h àË`oH$ J«m_rU Ka H$mo 100 {XZ H$m H$m`© gw{ZpíMV H$aVm h¡ &

	 e.	 BgH$m bú` J«m_rU joÌm| go {ZY©ZVm H$m CÝ_ybZ H$aZm h¡ &

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$a| &

	 (A)	 Ho$db a, b, c	 (B)	 Ho$db b, c, d	 (C)	 Ho$db c, d, e	 (D)	 Ho$db b, d, e

		  Which of the following are correct about Mahatma Gandhi National Rural Employment Guarantee Act ?
		  a.	 It was passed in 2006.
		  b.	 It was brought into force in 2006 only.
		  c.	 It was initially implemented in 100 districts of the country.
		  d.	 It secures 100 days of work per rural household.
		  e.	 It aimed at eradication of poverty from rural areas.

		  Choose the correct answer from the options given below :
	 (A)	 a, b, c only	 (B)	 b, c, d only	 (C)	 c, d, e only	 (D)	 b, d, e only
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	 93.	 “gwemgZ” Am¡a “ {dH$mg Ho$ {bE ^mJrXmar CÝ_yI ZmJ[aH$ g_mO” na {díd ~¢H$ H$s [anmoQ>© _| H$~ ~b {X`m J`m Wm ?
	 (A)	 1992 _| 			   (B)	 1997 _| 	
	 (C)	 2000 _| 			   (D)	 2003 _| 
		  “Good governance” and “participative civil society for development” were emphasised by world Bank 

Report of
	 (A)	 1992			   (B)	 1997	
	 (C)	 2000			   (D)	 2003

	 94.	 {ZåZ{b{IV _| go H$m¡Z-gr g{_{V Zo ^maV _| ‘Amo’ (O) VWm ‘E_’ (M) g§JR>Z Ho$ {Z_m©U H$s {g\$m[ae H$s Wr ?
	 (A)	Am{W©H$ g{_{V			   (B)	 Eßnb~r g{_{V
	 (C)	 gÝWmZ_ g{_{V			   (D)	 Jmoamdmbm g{_{V
		  Which of the following committee recommended for creating O and M organisation in India ?
	 (A)	 The Economic committee	 (B)	 The Appleby committee
	 (C)	S anthanam committee			   (D)	 Gorawala committee

	 95.	 {ZåZ{b{IV _| go ^maV _| ZJanm{bH$mAm| Ho$ H$m¡Z-go H$m`© h¢ ?

	 1.	 ^y{_ Cn`moJ H$m {d{Z_`Z Am¡a nm[apñW{VH$s Am`m_m| H$s n«moÞ{V

	 2.	 gm§ñH¥${VH$ {H«$`mH$bmn Am¡a CÚmoJm| H$m g§MmbZ

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{Z`o :

	 (A)	 Ho$db 1	 (B)	 Ho$db 2	 (C)	 XmoZm| 1 Am¡a 2	 (D)	 Z Vmo 1 Am¡a Zm hr 2
		  Which of the following is/are the functions of municipalities in India ?
		  1.	 Regulation of land use and promotion of ecological aspects.
		  2.	 Cultural activities and running of industries.
		S  elect the correct answer from the options given below :
	 (A)	 Only 1	 (B)	 Only 2	 (C)	 Both 1 and 2	 (D)	 Neither 1 nor 2

	 96.	 VwbZmË_H$ amOZr{V Ho$ {bE {ZåZ{b{IV _| go {H$g ÑpîQ>H$moU Ûmam VwbZmË_H$ AÜ``Z H$m AZw^d OÝ` VarH$m àñVwV 
{H$`m J`m Wm ?

	 (A)	 Zd-amÁ`dmX			   (B)	 Zd-g§ñWmdmX
	 (C)	 ì`dhmadmX			   (D)	 CÎma-ì`dhmadmX
		  Empirical mode of comparative research was introduced by which of the following approaches to 

comparative politics ?

	 (A)	 Neo-statism			   (B)	 Neo-institutionalism

	 (C)	 Behaviouralism			   (D)	 Post-Behaviouralism

	 97.	 AmYw{ZH$ H¡$S>a nmQ>u H$s AdYmaUm {ZåZ{b{IV _|o go {H$g {dMmaH$ Ûmam Xr JB© Wr ?

	 (A)	 éS> Hy$bo			   (B)	 _m¡[ag Sw>dO©a

	 (C)	 {O`modZr gmaQ>moar			   (D)	 BZ_| go H$moB© Zht
		  The concept of modern cadre party was given by which of the following thinkers ?

	 (A)	 Rudd Koole			   (B)	 Maurice Duverger

	 (C)	 Giovarni sartori			   (D)	 None of these
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	 98.	 S>o{dS> B©ñQ>Z H$s amOZr{VH$ ì`dñWm H$s ÑT.>Vm H$s AdYmaUm {ZåZ{b{IV _| go {H$g AZwemgZ go _yb ê$n go br JB© h¡ ?

	 (A)	 ^m¡{VH$ {dkmZ			 

	 (B)	 g§Mma {dkmZ

	 (C)	 gm_m{OH$ Z¥{dkmZ			 

	 (D)	 O¡{dH$ {dkmZ

		  David Easton’s concept of persistence of the political system is originally derived from which of the following 
disciplines ?

	 (A)	 Physical sciences			 

	 (B)	 Communication sciences

	 (C)	S ocial anthropology			 

	 (D)	 Biological sciences

	 99.	 {ZåZ{b{IV _| go {H$g g_mOemór Zo g§aMZmË_H$-àH$m`m©Ë_H$ {díbofU na Jo{~«̀ b Amb_ÊS> Ho$ H$m ©̀ H$mo ào[aV {H$`m ?

	 (A)	 Q>mbH$moQ> nmg©Ýg			 

	 (B)	 B_mBb Xþ{I©_

	 (C)	 H$mb© _mŠg©			 

	 (D)	 H$mb© _¡Zho_

		  Which of the following sociologists inspired Gabriel Almond’s work on structural - functional analysis ?

	 (A)	 Talcott parsons			 

	 (B)	 Emily Durkheim	

	 (C)	 Karl Marx			 

	 (D)	 Karl Manheim

	100.	 {ZåZ{b{IV _| go H$m¡Z-gr epŠV/gÎmm H$s {deofVm Zht h¡ ?

	 (A)	 `h EH$ à~ÝYH$s` A{YH$ma h¡ 

	 (B)	 BgH$m àË`m`moOZ ZrMo go hmoVm h¡

	 (C)	 BgH$m àË`m`moOZ D$na go hmoVm h¡

	 (D)	 `h AYrZñWm| H$mo H$m`© gm¢nZo H$m A{YH$ma h¡ 

		  Which of the following is not an feature of power ?

	 (A)	 This is a managerial right

	 (B)	 It is always delegated below

	 (C)	 It is delegated from above

	 (D)	 This is a right to assign work to subordinate
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